Aire et Volume des Cylindres (E)

Calculez l'aire et le volume pour chaque cylindre.
Aire = (mr? X 2) + (rd x h) ~ Volume = > x h ~ d = 2r

d=9,6m h=6,9 m

r =11 hm h =125 hm Alre =
Aire = Volume =
Volume =

d=15cm h =195 cm

r=49m h=T7m Aire —
Aire = Volume =
Volume =
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Aire et Volume des Cylindres (E) Réponses

Calculez l'aire et le volume pour chaque cylindre.
Aire = (mr? X 2) + (rd x h) ~ Volume = > x h ~ d = 2r
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d=9,6m h=16,9m
r=11hm  h=125hm Aire = 352,86 m*
Aire = 1624,2 hm? Volume = 499,44 m?

Volume = 4751,66 hm?

d=15cm h =195 cm
r=49m  h=Tm Aire = 1272,35 cm?
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Aire = 366,37 m Volume = 3445,93 cm?®
Volume = 528,01 m?
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